*  Bios168     Example & Concept   by   Paul W. Stewart *

Weight Gain (kg/day) 

Results based on fitting linear model using

M=16 subjects,  N=16 observations



TABLE=(1)  REGRESSION  COEFFICIENTS



                           	 Estimate of                               Lower 95%    Upper 95%    Standard

	Predictor Variable         Coefficient    Significance    P-Value      Limit        Limit       Error



	Intercept                      0.8194          ++          0.0042      0.3319       1.3068      0.2155

	F1:       (formula='A')         .                           .           .            .           .

	F2:       (formula='B')        0.0275          ns          0.9076     -0.4936       0.5486      0.2304

	F3:       (formula='C')        0.0625          ns          0.7923     -0.4586       0.5836      0.2304

	F4:       (formula='D')        0.1825          ns          0.4486     -0.3386       0.7036      0.2304

	C1:       (infant=1)            .                           .           .            .           .

	C2:       (infant=2)          -0.2350          ns          0.3343     -0.7561       0.2861      0.2304

	C3:       (infant=3)           0.3500          ns          0.1630     -0.1711       0.8711      0.2304

	C4:       (infant=4)           0.5375           +          0.0445      0.0164       1.0586      0.2304





TABLE=(6)  VARIANCE-COVARIANCE PARAMETERS

                               Estimate of                                 Lower 95%     Upper 95%    Standard

           Parameter            Parameter      Significance    P-Value         Limit         Limit     Error

       Residual Variance        0.10612292         +++          0.0007        0.0641        0.2088     0.0313





TABLE=(2)  TESTS  OF  OVERALL  HYPOTHESES



Description  of  the  Hypothesis     Significance    P-Value

treatment diff         E[Y|-,+]          ns          0.8637

infant    diff         E[Y|+,-]           *          0.0338





TABLE=(7)  MODEL FITTING INFORMATION





Res Log Likelihood                -6.8351222

Akaike's Information Criterion    -7.8351222

Schwarz's Bayesian Criterion      -7.9337345

-2 Res Log Likelihood             13.6702444
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 *  Bios168     Example & Concept   by   Paul W. Stewart *

                                                              Weight Gain (kg/day)

                                                                (B168-01a)

                                                   Results based on fitting linear model using

                                                    M=16 subjects,  N=16 observations



 TABLE=(3)  MEAN LEVELS  with  SAMPLE SIZES



   ÄÄÄÄÄÄÄÄ



                                               Subgroup                                                 Lower   Upper   Std.

                      M       N   Estimate   Specification           95% Confidence Intervals           Limit   Limit   Error



                      .       .      .             F C                                                      .       .       .

                      .       .      .                        0.3          0.8         1.3                  .       .       .

                      .       .      .                       ÚÁÄÄÄÄÄÄÄÄÄÄÄÄÁÄÄÄÄÄÄÄÄÄÄÄÁÄÄÄÄÄÄÄÄÄÄÄÄ¿       .       .       .

1) overall mean      16      16     1.051      E[Y|+,+]      ´              ÄÄÄÄÄþÄÄÄÄ              ³   0.866   1.235   0.081

                      .       .      .                       ´                                      ³       .       .       .

                      .       .      .                       ´                                      ³       .       .       .

1) trts   means       4       4     0.982      E[Y|1,+]      ´        ÄÄÄÄÄÄÄÄÄþÄÄÄÄÄÄÄÄÄ           ³   0.614   1.351   0.163

                      4       4     1.010      E[Y|2,+]      ´         ÄÄÄÄÄÄÄÄÄþÄÄÄÄÄÄÄÄÄ          ³   0.642   1.378   0.163

                      4       4     1.045      E[Y|3,+]      ´          ÄÄÄÄÄÄÄÄÄþÄÄÄÄÄÄÄÄÄ         ³   0.677   1.413   0.163

                      4       4     1.165      E[Y|4,+]      ´             ÄÄÄÄÄÄÄÄÄþÄÄÄÄÄÄÄÄÄ      ³   0.797   1.533   0.163

                      .       .      .                       ´                                      ³       .       .       .

                      .       .      .                       ´                                      ³       .       .       .

3) infant means       4       4     0.887      E[Y|+,1]      ´      ÄÄÄÄÄÄÄÄÄþÄÄÄÄÄÄÄÄÄ             ³   0.519   1.256   0.163

                      4       4     0.653      E[Y|+,2]      ´ÄÄÄÄÄÄÄÄÄþÄÄÄÄÄÄÄÄÄ                   ³   0.284   1.021   0.163

                      4       4     1.238      E[Y|+,3]      ´              ÄÄÄÄÄÄÄÄÄþÄÄÄÄÄÄÄÄÄ     ³   0.869   1.606   0.163

                      4       4     1.425      E[Y|+,4]      ´                   ÄÄÄÄÄÄÄÄÄþÄÄÄÄÄÄÄÄÄ³   1.057   1.793   0.163

                      .       .      .                       ´                                      ³       .       .       .

                      .       .      .                       ´                                      ³       .       .       .

                      .       .      .                       ÀÂÄÄÄÄÄÄÄÄÄÄÄÄÂÄÄÄÄÄÄÄÄÄÄÄÂÄÄÄÄÄÄÄÄÄÄÄÄÙ       .       .       .

                      .       .      .                        0.3          0.8         1.3                  .       .       .



 ____________________________________________________________



      Key:         þ   indicates p <  0.0100

                   #   indicates p <  0.0500

                   0   indicates p ò  0.0500
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�*  Bios168     Example & Concept   by   Paul W. Stewart *

                                                           Weight Gain (kg/day) 

                                                                (B168-01a)

                                                   Results based on fitting linear model using

                                                    M=16 subjects,  N=16 observations



 TABLE=(4)  DIFFERENCES  between  MEAN LEVELS



                              Estimate of     Difference                                                  Lower    Upper       Std.

                   P-Value    Difference     Specification            95% Confidence Intervals            Limit    Limit      Error



                     .             .              F C                                                         .        .       .

                     .             .                                 -0.45 -0.1  0.25  0.6    0.95            .        .       .

                     .             .                          ÚÄÄÄÄÄÄÁÄÄÄÄÄÁÄÅÄÄÄÁÄÄÄÄÄÁÄÄÄÄÄÄÁÄÄÄÄÄÄ¿        .        .       .

1) trts   diffs     0.9076        0.028       E[Y|2-1,+]      ´     ÄÄÄÄÄÄÄÄÄ0ÄÄÄÄÄÄÄÄÄÄ             ³    -0.49    0.549      0.230

                    0.7923        0.063       E[Y|3-1,+]      ´     ÄÄÄÄÄÄÄÄÄÄ0ÄÄÄÄÄÄÄÄÄ             ³    -0.46    0.584      0.230

                    0.8826        0.035       E[Y|3-2,+]      ´     ÄÄÄÄÄÄÄÄÄ0ÄÄÄÄÄÄÄÄÄÄ             ³    -0.49    0.556      0.230

                    0.4486        0.183       E[Y|4-1,+]      ´        ÄÄÄÄÄÄÄÄÄ0ÄÄÄÄÄÄÄÄÄ           ³    -0.34    0.704      0.230

                    0.5179        0.155       E[Y|4-2,+]      ´       ÄÄÄÄÄÄÄÄÄ0ÄÄÄÄÄÄÄÄÄÄ           ³    -0.37    0.676      0.230

                    0.6150        0.120       E[Y|4-3,+]      ´      ÄÄÄÄÄÄÄÄÄÄ0ÄÄÄÄÄÄÄÄÄ            ³     -0.4    0.641      0.230

                     .             .                          ´                                      ³        .        .       .

                     .             .                          ´                                      ³        .        .       .

3) infant diffs     0.3343       -0.235       E[Y|+,2-1]      ´ÄÄÄÄÄÄÄÄÄ0ÄÄÄÄÄÄÄÄÄÄ                  ³    -0.76    0.286      0.230

                    0.1630        0.350       E[Y|+,3-1]      ´           ÄÄÄÄÄÄÄÄÄ0ÄÄÄÄÄÄÄÄÄ        ³    -0.17    0.871      0.230

                    0.0317        0.585       E[Y|+,3-2]      ´               ÄÄÄÄÄÄÄÄÄ#ÄÄÄÄÄÄÄÄÄÄ   ³    0.064    1.106      0.230

                    0.0445        0.538       E[Y|+,4-1]      ´              ÄÄÄÄÄÄÄÄÄ#ÄÄÄÄÄÄÄÄÄÄ    ³    0.016    1.059      0.230

                    0.0085        0.773       E[Y|+,4-2]      ´                  ÄÄÄÄÄÄÄÄÄÄþÄÄÄÄÄÄÄÄÄ³    0.251    1.294      0.230

                    0.4367        0.187       E[Y|+,4-3]      ´        ÄÄÄÄÄÄÄÄÄ0ÄÄÄÄÄÄÄÄÄ           ³    -0.33    0.709      0.230

                     .             .                          ´                                      ³        .        .       .

                     .             .                          ´                                      ³        .        .       .

                     .             .                          ÀÄÄÄÄÄÄÂÄÄÄÄÄÂÄÅÄÄÄÂÄÄÄÄÄÂÄÄÄÄÄÄÂÄÄÄÄÄÄÙ        .        .       .

                     .             .                                 -0.45 -0.1  0.25  0.6    0.95            .        .       .



 ____________________________________________________________

      Key:         þ   indicates p <  0.0100

                   #   indicates p <  0.0500

                   0   indicates p ò  0.0500



Differences between Population Marginal Means (PMM) are labeled

via the 'E[Y| ..., -, ... ]' notation.   For example, the

notation  'E[Y|2-1,+]'  would indicate  E[Y|2,+] - E[Y|1,+] .
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�%let program= B168-01a;



*====================================================================;

data work.example;

     input     ID     wt_gain   infant    week      formula $;  datalines;

               1      0.40      1         1         B

               2      0.20      2         1         C

               3      1.14      3         1         A

               4      1.08      4         1         D

                5      1.11      1         2         C

                6      1.04      2         2         D

                7      1.11      3         2         B

                8      1.34      4         2         A

               9      1.16      1         3         D

              10      0.57      2         3         A

              11      1.32      3         3         C

              12      1.73      4         3         B

               13      0.88      1         4         A

               14      0.80      2         4         B

               15      1.38      3         4         D

               16      1.55      4         4         C

             ;;;



     run;



data for_model;

     set examples;

     F1= (formula="A");       C1= (infant=1);

     F2= (formula="B");       C2= (infant=2);

     F3= (formula="C");       C3= (infant=3);

     F4= (formula="D");       C4= (infant=4);

     run;





PROC MIXED DATA=for_model

                         CL MaxIter=100   Method=REML  COVTEST;

     class   ID;

     *-------------------------------;

     MODEL    WT_GAIN    =

            F2

            F3

            F4

            C2

            C3

            C4

            / cl s

             predicted

            ;

     *-------------------------------;

     REPEATED

            /

             Subject=   ID

            type=un

                    ;

     *-------------------------------;

     ESTIMATE 'E[Y|+,+] '

          INTERCEPT 1

          F2         0.25

          F3         0.25

          F4         0.25

          C2         0.25

          C3         0.25

          C4         0.25

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|1,+] '

          INTERCEPT 1

          C2         0.25

          C3         0.25

          C4         0.25

          / cl;















     *-------------------------------;

     ESTIMATE 'E[Y|2,+] '

          INTERCEPT 1

          F2         1

          C2         0.25

          C3         0.25

          C4         0.25

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|3,+] '

          INTERCEPT 1

          F3         1

          C2         0.25

          C3         0.25

          C4         0.25

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|4,+] '

          INTERCEPT 1

          F4         1

          C2         0.25

          C3         0.25

          C4         0.25

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,1] '

          INTERCEPT 1

          F2         0.25

          F3         0.25

          F4         0.25

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,2] '

          INTERCEPT 1

          F2         0.25

          F3         0.25

          F4         0.25

          C2         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,3] '

          INTERCEPT 1

          F2         0.25

          F3         0.25

          F4         0.25

          C3         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,4] '

          INTERCEPT 1

          F2         0.25

          F3         0.25

          F4         0.25

          C4         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|2-1,+] '

          F2         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|3-1,+] '

          F3         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|3-2,+] '

          F2         -1

          F3         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|4-1,+] '

          F4         1

          / cl;









     *-------------------------------;

     ESTIMATE 'E[Y|4-2,+] '

          F2         -1

          F4         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|4-3,+] '

          F3         -1

          F4         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,2-1] '

          C2         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,3-1] '

          C3         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,3-2] '

          C2         -1

          C3         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,4-1] '

          C4         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,4-2] '

          C2         -1

          C4         1

          / cl;

     *-------------------------------;

     ESTIMATE 'E[Y|+,4-3] '

          C3         -1

          C4         1

          / cl;

     *-------------------------------;

     CONTRAST 'E[Y|-,+] '

          F2         1

          ,

          F3         1

          ,

          F4         1

          ;

     *-------------------------------;

     CONTRAST 'E[Y|+,-] '

          C2         1

          ,

          C3         1

          ,

          C4         1

          ;

     *-------------------------------;

run;


